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Fi=FaonB
_ Kqp9g _ _(9.0%10° N-m?/Cc?)(4.5x10-5 C)(—8.2X10-6 C)
a? (0.040 m)2

= —208 N = 208 N, to left
The distance between the other two charges is

/(0.040 m)2 + (0.030 m)2 = 0.050 m

oy = tan-1(3520)

= 37° below the negative x-axis, or 217° from the positive x-axis.

F;=Fcons
_ Kqeqg  (3.0x10? N-mZ/c)(8.2x 10~ % C)(6.0x 1075 C)
T a2 (0.050 m)2

= —177 N =177 N at 217° from the positive x-axis (37° + 180°)
The components of F, are:
Fy, = F5 cos # = (177 N)(cos 217°) = —142 N = 142 N to the left

F3, = F3sin @ = (177 N)(sin 217°) = —106 N = 106 N down

The components of the net (resultant) force are:

Fret x = —208 N — 142 N = —350 N = 350 N, to left

Fhet, y = 106 N, down

Fret = /(350 N)2 + (106 N)2 = 366 N = 3.7x102 N
— tap—1/ 106 N

6, = tan (EEDN)

= 17° below the negative x-axis

F et = 3.7%102 N at 197° from the positive x-axis

1970‘“‘"’-&‘36*‘”-“-«‘-‘ JF=3.7x10°N
gl 2y pnd Kty
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3.0cm

I
|
:
i
1-17 Sl
A5 S0 3 S5l F La
Fg = mg = (1.0x1073 kg)(9.80 m/s?) = 9.8x10~3 N

aalalls S 35 S5l Fe b

b. Fy

Fe
tan 30.0° = —
Fq
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Fg = mg tan 30.0°

= (1.0%1073 kg)(9.80 m/s?)(tan 30.0°)
=57x10"3N

S e S e et e

—
Fd? _ /[5.?x1u—3 N){3.0%102m?) _ 2 4%10-8 C
VK \ (9.0x10% N-mZ/C¥) ’

g, sq, OSlo Sk Ol & Cnss .60
s o cha so sl @ 2 e o 3L
L se g, LoV Ee 2l S 135 . +7.2uC
H2.5cm_L,jL;_pc_s_53.5pc_§_,uJ
ColS5 35 Ayl ae g, slas Yl de
e 185 —6.6 uC La ks s LIl g, et
1125° 4505 e Lzl dsed -0 6.8 cm da
O35 Gl 5l 853 IS Hluiesdb .
N el 8

Kordn  19.0%10% N-m&C2)(7.210-8 C)(3.6x10-5 )

Fa=—g = (0.025 m)2

= 3.7x10Z N, away (toward gy)

= Kot 19.0x10% H-m&C)(7.2510°% C)(6.6x10-5 C)
B g7 = {0,068 m)2

= 92 N, toward (away from gy)
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